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���.ROHMQR�ü�F]\QQR�FL 
�����=PLHU]\ü�Z\PLDU\�SU]HNURMX�SRSU]HF]QHJR�EHONL�VXZPLDUN�� 
�����]PLHU]\ü�GáXJR�FL�FKDUDNWHU\VW\F]QH�EHONL�Di 
i=1,2,...(patrz schemat) 
�����SRGá�F]\ü�F]XMQLN�GUJD��GR�PRVWND�60�� 
�����:á�F]\ü�REURW\�VLOQLND�SRSU]H]�IDORZQLN�ZJ�LQVWUXNFML�

falownika.  
����8VWDZLü�SRNU
WáR�F]
VWR�FL�WDN��DE\�Z\VW�SLáR�]MDZLVNR�

rezonansu. 
�����:á�F]\ü�PRVWHN�WHQVRPHWU\F]Q\�60�RUD]�RVF\ORVNRS�67�����

do sieci 220V 
�����3U]\JRWRZDü�PRVWHN�L�RVF\ORVNRS�GR�SUDF\�ZJ�RGSRZLHGQLFK�

instrukcji.  
�����&]\QQR�FL�����SRZWyU]\ü���UD]\� 
�����&]
VWR�ü�GUJD��ZáDVQ\FK�EHONL�MHVW�UyZQD�F]
VWR�FL�GUJD��

Z\PXV]RQ\FK��NWyUD�RWU]\PDQD�]RVWDáD�SU]\�PDNV\PDOQHM�

DPSOLWXG]LH�GUJD�� 
 
 
���2SUDFRZDQLH�Z\QLNyZ�EDGD�� 
����$QDOL]D�GR�ZLDGF]DOQD 
=�Z\]QDF]RQ\FK����NURWQLH��F]
VWR�FL�GUJD��Z\PXV]RQ\FK�

Z\ELHUDP\�WDN���GOD�NWyUHM�RWU]\PDOL�P\�PDNV\PDOQ��DPSOLWXG
�

GUJD���-HVW�WR�V]XNDQD�F]
VWR�ü�GUJD��ZáDVQ\FK�EHONL�Ir. 
&]
VWR�ü�NRáRZ��GUJD��ZáDVQ\FK�EHONL�REOLF]DP\�]H�Z]RUX� 



 
wr = 2pfr  [rad/s] 

 
2NUHV�GUJD��ZáDVQ\FK�EHONL�Z\QRVL� 

Tr=
�

I
U

 [s] 

3.2. TeRUHW\F]Q��ZDUWR�ü�F]
VWR�FL�NRáRZHM�GUJD��ZáDVQ\FK�

QDOH*\�Z\]QDF]\ü�Z�VSRVyE�SU]\EOL*RQ\��PHWRGD�5H\OHLJKD�� 
3U]\EOL*RQ��OLQL
�XJL
FLD�EHONL�\�[��GRELHUDP\�Z�WDNL�VSRVyE��

DE\�VSHáQLDáD�NLQHPDW\F]QH�ZDUXQNL�SRGSDUü�EHONL�L�E\áD�

IXQNFM��FL�Já��L�Uy*QLF]NRZDOQ���QS��ZLHORPLDQHP�� 
&]
VWR�ü�GUJD��ZáDVQ\FK�EHONL�RNUH�ODP\�]H�Z]RUX� 
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gdzie:  
E-�PRGXá�<RXQJD�EHONL��SDWU]�WDEOLFH� 
J-�PRPHQW�EH]ZáDGQR�FL�SU]HNURMX�EHONL 
m-�J
VWR�ü�MHGQRVWNL�GáXJR�FL�EHONL 
mi- masy skupione 
y(x) 
yi-�U]
GQD�IXQNFML�\�[��SRG�L-W��PDV��VNXSLRQ� 
 
���6SUDZR]GDQLH�ZLQQR�]DZLHUDü� 
�����3URWRNyá�]�üZLF]HQLD 
�����'R�ZLDGF]DOQH�RNUH�OHQLH�F]
VWR�FL�GUJD��ZáDVQ\FK 
�����7HRUHW\F]QH�RNUH�OHQLH�F]
VWR�FL�GUJD��ZáDVQ\FK 
4.4. Porównanie wyników  
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